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General Instructions :

The question paper comprises of two sections, A and B. You are to attempt both the sections.

All questions are compulsory.

There is no overall choice. However, internal choice has been provided in all the five questions of
five marks category. Only one option in such questions is to be attempted.

All questions to sechion A and all questions of section B are to be attempted separately.
Questions 1 to 4 in section A are one mark questions. These are to be answered in one word or
one sentence.

Chuestions 5 to 13 in section A are two marks questions. These are to be answered in about 30
words each

Cuestions 14 to 22 in section A are three marks questions. These are to be answered in about 50
words each.

Questions 23 to 25 in section A are five marks questions. These are to be answered in about 70
words each

Questions 26 to 41 in section B are multiple choice questions based on practical skills. Each
question is a one mark question. You are fo select one most appropriate response out of the four
provided to you
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SECTION-A /@&-'3"

AgNO3_ +NaClag — AgCly | +NaNOs

FeS+ H,50, — FeSO, +HS T

Consider the above mentioned two chemical equations with two different kinds of arrows

(T and L ) along with product. What do these bwo different arrows indicate 7

Mame a non-metal which is lustrowus and a metal which is non-listrous.

Bio - gas is also known as gobar gas. Justify.

MName the instrument used to measure electric current in a cincuit.



5. What is an alloy ? State the constituents of solder. Which property of solder makes it
suitable for welding electrical wires ?

6.  State the chemical name of plaster of Paris ? Write a chemical equation to show the reaction
between plaster of Paris and water.

7. (a) A solution of substance X is used for white washing. What is the substance "X’ 7 State
the chemical reaction of X" with water.

(b) Why does the colour of copper sulphate solution change when an iron nail is dipped in
it?

8. {a) Balance the following chemical equations
(i) BaCl,+HS50 —BaSO,+HC
(i) Ca(OH),+HNO,2Ca(NO,),+HO
(i) PBNO,),”> PbO+NO,+0O,
(iv) MnO,+HCI?*MnClL+HO+Cl,

9. State two differences between arteries and veins.

10. Give reasons for the following

(a) Why is diffusion is not sufficient to meet the oxygen requirements of all the cells in
muilticellular organisms 7

(b) How desert plants perform photosynthesis if their stomata remain closed during the
day ?

11. The charge possessed by an electron is 1.6x10™ coulombs. Find the mumber of electrons that
will flow per second to constitute a current of 1 ampere.

12.  What are permanent magnets and electromagnets 7 Give one use of each.

13. Explain the role of fuse in series with any electrical appliance in an electric circuit 7 Why
showld a fuse with defined rating for an electric circuit not be replaced by one with a larger
rating 7

14. (a) Why is respiration considered an exothermic reaction ?

(b} Define the terms oxidation and reduction.
c) Identify the substance that is oxidised and reduced in the reaction :

CuD{s:l + ZI'L(S} — C“[sj + ZnCJ(S}

15. A milkman adds a very small amoint of baking soda to fresh milk.
(i)  What is the effect of addition of baking soda to milk 7

(if) Why does this milk take long time to sef as curd ?



16.

17.

18,

19,

20,

21.

22,

23.

(a)
(b)

(<)

(i) Name the compound which is obtained from baking soda and is used to remove
permanent hardness of water.

(i) Write its chemical formuila.

(iii) Whathappens when it is recrystallised from its aqueous sclution ?
What is chemotropism ? Give one example. Name any two plant hormones and
mention their functions.

State the functions of any three of the structural and functional unit of nervous system.

(a) Charcoal is a better fuel than wood. Why ?

(b) How does biogas plant help to reduce the problem of pollution ?

Mame the physical quantity which is (i) same (ii) different in all the bulbs when three bulbs
of

{a) same wattage are connected in series

(b) same wattage are cormected in parallel

ic) different wattage are connected in series
(d) different wattage are connected in parallel

Two devices of rating 44W; 220 V and 11W; 220 V are cormected in series. The combination
is connected across a 440 V mains. The fuse of which of the two devices is likely to burn
when switch is on ? Justify your answer.

A coil made of insulated copper wire is connected to a galvanometer. What will
happen to the deflection of the galvanometer if this codl is moved towards a stationary
bar magnet and then moved away from it? Give reason for your answer and name the
phenomenon involved.

a (oW at reactivity series can extract St Ofes !
H the metals at the top of the ty be ed from th ?
Explain with an example.

(b) Name any one alloy made from
(i) ametal and a non metal and
(i) two metals.

OR
Give two methods to prevent the rusting of iron ?

IName the ores of the following metals (i) mercury and (ii) zinc

Explain, with the help of a diagram, how copper metal can be refined ? Label the

important arrangements in the experimental set up.



24,

(a)

(b)
(©

25,

(b)

(a) Draw diagram of human alimentary canal and label the following
(i) Partin which starch digestion starts.
(i) Partin which bile is stored.
(i) Part in which nutrients are absorbed.
({iv) Part in which water is absorbed.
(b) Mention the role of hydrochloric acid in the stomach.
(c) What function is served by the following :
(i) Gastric sphincter

() Anal sphincter
OR

Draw diagram of respiratory system and label the following :
(i) Part through which air is taken in.

(ii) Part which protects the lungs.

(iii) Part which carry the air into the lungs.

What are alveoli ? Mention their role in respiration.

Differentiate between aerobic and anaerobic respiration.

(a) Two circular coils A and B are placed closed to each other. If the current in the
coil A is changed, will some current be induced in coil B? Give reason.

(k) State the rule to determine the direction of a:
(i) magnetic field produced around a straight conductor carrying
current.
(ii) force experienced by a current carrying straight conductor placed in a
magnetic field, which is perpendicular to it.
OR
A coil of insulated copper wire is connected to a galvanometer. What will happen if a
bar magnet is
(i) pushed into the coil with its north pole entering first 7
(i) withdrawn from inside the coil 7
(iii) held stationary inside the coil ?

Name the above phenomenon and mention the name of the scientist who discovered it
State the law that relates the direction of current in the codl with the direction of motion

of the magnet.



SECTION -B/@g-'&'

26. Inanexperiment to test the pH s of a given sample using pH paper, four students
recorded the following observations for the sample tested by each one of them.

Sample taken. PH paper colour turned to.
I} Water Blue
() Dil HO Fed
il. INal e
(II) Dil NaOH Bl
i1 Acetic aci
(TV) Dil. Acetic acid Orange

The student who took the incorrect observation is :
@) I (b) I (¢ 1II (d IV
27. A colourless sample was tested with a strip of pH paper. The colour of the strip
changed to green. The sample should be -
(a) Tap water (b) distilled water
(c) sodium hydroxide (d) lemon juice

28, A blue litmus paper was first dipped in dil. HCT and then in dil. NaOH solution. It was
observed that the colowr of the litnwus paper :

(a) Changed to red (b) Changed first to red and then to blue
i) Changed blue to colourless (d) Remained blue in both the solutions
29 If iron nails are kept in CuSO, solution for two hours, the colour of the solution will
change in to :
(a) Pink (b) Red
(c) Light green (d) Yellow

30.  When aqueous solutions of sodium sulphate and barium chloride are mixed together we find
that the reaction mixture

(a) turns red (b) forms a white precipitate

(c) forms a yellow precipitate (d) remains colourless



31.  The readings of current flowing through a conductor and the potential difference across its
two ends are shown in the ammeter and voltmeter given below.

The resistance of the conductor would be

(@ 200 (b) 500 € 200 (d 020

32.  In the experiment to study the dependence of current on potential difference across a resistor,
a student obtained a graph as shown in the diagram.

The value of resistance of the resistor is :

I
I 1| N —

10N e

I
01f-- :
1.0 2.0 3.0 4.0
Vo (volt) —
ja)y 010 k) 100 ) 100 (dy 1000
33. An ammeter has a range of (0-3) amperes and there are 30 divisions on its scale. What is its
least count?
ja) 10A (b) 0001 A i) 01A d) 001A

34, The two circuit components shown connected in parallel in the following circuit are :

+®—
®
4+
XL T -

ja) rheostat and voltmeter
(b) voltmeter and resistor
(€) wvoltmeter and ammeter

(d) ammeter and resistor.



35.

()
(<)

36.

37.

For the circuits shown in figure-1 and figure-2 the ammeter reading would be :

oo — tn—
W 2,
350 10 1101 3511

+
AHHE—) HHH =)
45V  Key 45V Key
Fig.1 Fig. 2
1.0A in figure 1 and 0.0A in figure 2  (b) 00A in both
1.0A in both (d) 10Ain figure 1 and 1.0A in figure 2

What is the right procedure to remove chlorophyll from a destarched leaf ?

(a) Boil the destarched leaf in lime water.

(b) Boil the destarched leaf in alcchol.

(c) Boil the destarched leaf in water only.

(d) Boil the destarched leaf in a mixture of alcohol and water.

To determine that light is essential for photosynthesis, following are the steps, but notin

SE‘qﬂ.EﬂDE' :

i)  Pluck the leaf and do the starch test.

(ii) Keep the selected plant in sunlight.

(it} Destarch the plant for 48 - 72 hours.

(iv) Cover the leaf with black paper strip.

The correct sequence is

(@)
()
(<)
(d)

(i), (1), (i), ()
(if), (g) (), (2)
(if), (), (), (2
(@), (@), (v), (i)



38.  After observing a temporary mount of leaf peel a student draws the following sketch of
stomatal apparatus and numbers the parts to label them

L L

The chloroplast is denoted by

(@ 1 ) 2 © 3 (d 4

39. REakshita followed the following procedure for staining the temyporary mount of

leaf peel on slide.
(I) toputa single drop of stain on leaf peel and wash it with water.
(I} toputa single drop of glycerine on leaf peel .
(IT}) cover the leaf peel with coverslip.
(IV) observe the slide under microscope.
Which of the following gives the correct sequence of steps ?
(a) ILIV,IIO by I I OLIV
() ILIIV,I (d) IV, IILIO

40, The following experiment was set up to show that a gas is given out during respiration. But
there was no rise in the level of water. This was because -



41.

Warer

Cerminating seeds

(a) germinating seeds have not been kept under water in the flask.
(b) water is kept in the beaker instead of lime water.
(c) the cork on the flask is made of rubber.

(d) no substance is kept in the flask to absorb the gas given out by the seeds.
In the experiment demonstrating respiration in germinating seeds, KOH is used to
{a) abosorb CO, produced by the seeds.
(b) absorb O, presentin the flask

) absorb water vapour released by the seeds

(d) liberate O, to be used by the seeds.



